
Income Tax Final Outline
1) Introductory Concepts

a) Horizontal Equity

i) Treat those similarly situated in the same way

b) Vertical Equity

i) Those who are not similarly situated should not be treated the same way

c) Efficiency

i) Taxes should interfere as little as possible with people’s economic behavior

d) Administrability

i) Taxes should be simple and objective

e) Progressivity

i) Those earning at a higher rate should pay taxes at a higher rate

f) Regressivity

g) As a society, we have decided that income tax is the best way to measure ability to pay

h) Credit vs. Deduction

i) Credits reduce taxes

ii) Deductions reduce taxable income

i) Calculating After Tax-Income

Gross income – deductions = AGI – personal exemption / standardized deduction / itemized deductions = taxable income x tax rates = tax before credits – tax credits = tax due
j) Average Rate

i) The average percentage that an individual pays taxes at, instead of the highest rate that the individual pays taxes at.

k) Marginal Rate

i) The rate at which your last dollar is taxed (the highest “bracket” that an individual pays at)

ii) Marginal rate tells you how much you will have after tax if you earn additional income

l) After-Tax Rate

i) Gross-Up

(1) In general, to get the pre-tax amount when you know your after-tax amount, DIVIDE the after-tax amount by 1 minus the tax rate

2) What is Income?

a) Glenshaw Glass “Congress applied no limitations on the source of taxable receipts, nor restrictive labels as to their nature.” The definition we currently use.
b) Eisner v. Macomber Gain derived from capital, from labor or from both combined. A definition which proved too narrow and is no longer used.
c) Haig-Simons or Economic Definition: the sum of market value of rights exercised in consumption plus change in the value of the store of market rights between beginning and end of period in question. This definition is too broad and would tax even unrealized gain.
d) Prizes, windfalls, noncash receipts (e.g., a car) are income

e) Section 61: gross income means all income from whatever source derived.

i) Including (but not limited to)

(1) Compensation for services

(2) Gross business income

(3) Gains from dealings in property

(4) Interest, rents, royalties, dividends

ii) The statute and regulations make clear that income can come in any form

(1) Reg. §1.61-1(a) – income realized in any form; services and property as well as cash

(2) Reg. §1.61-2(d)(1) – fair market value of property or services

f) Non-Cash Benefits

i) Benaglia Benaglia was allowed to exclude from income lodging and meals in a luxury hotel in Hawaii received as an employee of the hotel because it was for the “convenience of the employer.” The majority says the expenses were for the convenience of the employer (meaning the standard imposed by Benaglia is not very high). The Court says that the housing was a working condition, something he had to receive in order to properly execute his job. 

(1) The Code has heightened the standard
ii) Food and Lodging: Section 119

(1) Benaglia no longer in the authority. Congress has enacted section 119. 

(2) The section allows the exclusion of “the value of any meals or lodging furnished to him, his spouse, or any of his dependents by or on behalf of his employer for the convenience of the employer…”

(3) The statutory requirements for exclusion of lodging from income:

(a) Employer-employee relationship

(b) For convenience of employer

(c) On business premises

(d) As condition of employment

(4) The statutory requirements for value of meals to be excluded from income:
(a) Employer-employee relationship

(b) Meals are furnished on the employee’s premises

(c) Meals are furnished for the convenience of the employer

(5) Section 119 is a rule and as a result has some arbitrary results

(a) Manager lives in a house provided by a motel but two blocks away is not excluded under 119

(b) Doctor lives in house provided by VA a mile away from the hospital but still on the “business premises;” excludable under 119

(c) Provides an administrable and certain rule, but also arbitrary results

iii) Fringe Benefits: Section 132

(1) Excludable from gross income

(2) No Additional-Cost Service Fringe
(a) Excludes from gross income any service provided by an employer to an employee for use by such employee as long as it is

(i) Offered for sale to customers ordinarily

(ii) The employer incurs no substantial additional cost

(3) Working Condition Fringe
(a) In-kind benefits to enable an employee to do his job
(b) Which could also be excluded under 162 or 167

(i) §162: allows deduction all the ordinary and necessary expenses paid or incurred in carrying on any trade or business

(ii) §167: depreciation; allows as a depreciation deduction a reasonable allowance for exhaustion, wear, and tear of property used in the trade or business or property held for the production of income
(4) Qualified Transportation Fringe: §132(f)
(a) $175 a month adjusted for inflation
(b) Allows parking to be “on or near the business premises”

(c) You can take the parking exclusion even if you could have chosen to take cash (constructive receipt does not apply)

(5) Qualified Employee Discounts Fringe
(a) Allows exclusion of employee discounts up to gross profit percentage

(i) This means a company cannot sell something to an employee at a loss

(ii) If a company gives an employee a 20% on something they only expect to make 10% on, the 10% under is not excludable.
(iii) Must be property or services “offered for sale to customers in the ordinary line of business of the employer in which the employee is providing services”
1. If a company owns both a dry-cleaner and a florist shop, it cannot provide excludable employee discounts on flowers to employees of the dry-cleaner.
(6) De Minimis Fringe

(a) Any property or service which is too small so as to make accounting for it unreasonable
(b) Allows exclusion of certain eating facilities if they are

(i) On or near the business premises, and
(ii) Revenue derived from such facility normally equals or exceeds the operation costs

(7) Qualified Moving Expenses Fringe

(8) Section 132 includes some non-discrimination rules regarding highly-compensated individuals

(a) Basically, if only the highly-compensated get the benefit, it cannot be excluded under this section

(i) 132(m)(2); cannot discriminate in favor of highly compensated employees in retirement planning

(ii) 132(e)(2); flush language; cannot discriminate in eating facilities

(iii) 132(j); special rules: non-discrimination rules apply to (a)(1) and (2)

(1) no-additional cost service

(2) Qualified employee discount

(iv) Note; this section demonstrates the lack of consistency of rule placement; some are in the special rules, some in the rules, and some in flush language

(b) 132(j)(6) cross-refers to 414(q) which defines “highly-compensated”

(c) 132(b)(1) if a company owns subsidiaries which are different businesses, an employee of one cannot gain the benefits of all the other subsidiaries

(d) 132(f) provides the qualified transportation fringe

(i) Allows exclusion of up to $175 a month (adjusted for inflation) if it is on or near the business premises

(ii) 132(f)(4) allows for exclusion even if you receive cash instead of parking

(9) To distinguish in-kind compensation would include Congress looks at:

(a) Was the exclusion long-established?

(b) Was there a business reason for providing the exclusion?

(c) Was the employee’s selection restricted?

(10) Example of airline passes

(a) §132(h)(3); Special rule for parents in the case of air transportation – Any use of air transportation by a parent of an employee shall be treated as use by the employee

(11) Employer Provided Health Insurance (another type of fringe benefit)
(a) Sections 105 and 106 exclude the cost of health insurance

(b) 105(h) a discrimination provision which applies only to employers who are self-insured. Otherwise, an employer can discriminate in favor of only highly-compensated employees.

(c) It is important that the employer provide the insurance; an employer cannot reimburse an employee for that cost, that would not be excludable

(i) Under 105 reimbursement is not excludable

(ii) Under 106 employer-provided healthcare is

iv) Reconsidering Valuation

(1) Turner v. CIR Petitioner won a steamship ticket. He was enriched. Commissioner says the amount the petitioner was required to include was the retail value of the ticket; $2,200. But the taxpayer only made $4,500 a year. Taxpayer valued the ticket at what he would have paid for it; $520. The ticket had certain limitations which a retail price ticket would not have. Court says the value was $1,400 without an explanation (seems like they picked a number in between the two valuations).
(a) Case demonstrates the difficulty of valuation of income
v) Imputed Income

(1) The non-market use of property

(a) To one’s self or one’s family

(b) Noncash increases in wealth

(c) Non-market transactions

(2) Imputed Income from Property

(a) Most important example; use of a home

(b) Compare renting house to others and renting house to self

(c) Consider issues of horizontal and vertical equity; e.g., compare homeowners with renters

(3) Imputed Income from Services

(a) Housekeeping and childcare

(b) One estimate – including the value of unpaid household services (such as a spouse who stays home) in gross income would increase gross national production by more than 25%

(4) Tres. Reg. §1.61-2(d) compensation paid other than cash: “if services are paid for in exchange for other services, the fair market value of such other services taken in payment must be included in income as compensation.”
vi) Windfalls

(1) Windfalls are included in income

(2) Glenshaw Glass Provides our current definition of income; “Congress applied no limitations on the source of taxable receipts, nor restrictive labels as to their nature”
(a) This is a very broad definition of income

(b) It replaced the earlier case Eisner which provided a narrow definition; “the gain derived from capital, from labor, or from both combined.”

(c) Another alternative definition is the Haig-Simons or economic definition which is too broad for use; “personal income may be defined as the algebraic sum of (1) the market value of rights exercised in consumption and (3) the change in the value of the store of property rights between the beginning and the end of the period in question.”

(3) Cesarini Involved the discovery of cash. Nearly $4,500 in old currency found in a piano purchased for $15. The money was a windfall and had to be included in income.

(a) If the piano was purchased for $15 and turned out to be worth $50,000, there is no income because no realization yet. The increase would be realized and recognized once it was sold or exchanged.

vii) Gifts

(1) Section 102 excludes gifts from income (and provides no deduction for the donor)
(2) Duberstein Business colleague gives friend Cadillac for business directed by the donee to the donor. Donee did not want the car. Supreme Court says it was not a gift because it was in return for business references.
(a) Rule: gift must be out of donor’s “detached and disinterest generosity”
(i) This is still the law. 
(3) Section 102(c) states that gifts from employers to employees are to be included in income
(a) Sec. 274(b):  No deduction shall be allowed … for gift made directly or indirectly to any individual to the extent that such expense, when added to prior expenses of the taxpayer for gifts made to such individual during the same taxable year, exceeds $25.

(b) Nondeductible gift vs. deductible compensation

(i) Before Duberstein; employer in 40% bracket paid employee $200. The employer can deduct the $200, creating a savings of $80 in taxes. Therefore, the actual cost of the $200 payment is only $120.
(ii) After Duberstein but before 102 and 274; if the payment was a gift and could not be deducted the employer would likely reduce the payment to $120 because it would be the same amount as earlier.
(iii) The employee on the other hand may be at a higher tax rate – say 70%

1. If he receives additional taxable compensation of $200, the employee must pay tax of $140
2. If he receives $120 as a gift, he would owe not tax and would get the full $120

3. The employee would clearly prefer the lesser amount of the gift then the greater amount of the compensation

(iv) Thus, 102(c) was enacted to prevent this problem.

(4) Harris Highlights the connection between “gift” and “family.” Donor gave two females money. It was unclear what the donor’s motives were. The donees needed to have a good faith belief that the money was a gift. The court says the money was a gift unless there was evidence that it was payments for specific sex acts.
(5) Special Basis Rules for Gifts of Property

(a) A realization event is a transaction that represents a sufficient change for us to impose income tax. It usually, but not always, involves a sale, exchange or other disposition.
(i) Perhaps illogically, we do not treat making a gift as a realization event for a donor. 

(ii) The formula for gain/loss realized is:

1. AR – AB = GR (or LR)

a. AR = amount realized; everything the seller receives in the sale

b. AB = adjusted basis; what is recovered tax-free, often the seller’s investment.

c. GR = gain realized

d. LR = loss realized

(b) Taft v. Bowers A purchased 100 shares of stock for $1,000. A gave stocks to B when they had a fair market value of $2,000 and B sold them later for $5,000. IRS says $4,000 gain taxable, while B argues only the $3,000 gain while she held them was. Supreme Court adopts the IRS’s position. The gifting was not a realization event, but the sale was. 
(i) Because of carryover basis, we tax the donee of an inter vivos gift on any appreciation that accrued while the donor held the gift
(c) Section 1015

(i) General Rule: In most cases, the basis to the donee of an inter vivos gift is the donor’s basis (“carryover” or “transferred” basis) 
1. This is because the gift is not a realization event

2. The donee takes the donors basis

(ii) Remember: The annual exclusion of $14,000 applies only for GIFT TAX. A gift is NEVER INCOME for a donee
1. For most citizens, gift tax liability is never an issue, because out-of- pocket liability begins only when total gifts above the annual exclusion (of $14K per donee per donor per year) exceed $5,000,000, or $10,000,000 for spouses, adjusted for inflation, under current law
2. Anyone can give up to $14,000 per pair (the donee-donor pair) without triggering gift liability
(d) Section 1014

(i) For gifts from a decedent the donee takes fair market value basis

1. E.g.

a. If I bought stock for $20 and it increased to $100 and I gave it to grandchildren during my life, their basis would be $20

b. But, if it had been left to them in a will, the grandchild’s basis would be $100 and the whole basis of increase would not be subject to tax (a large hole in the Code which makes it more favorable to pass by bequeathing or devising than inter vivos gift)
viii) Recovery of Basis

(1) §1011; We measure gain / loss for tax purposes with the concept of basis. 

(2) §1012; “the basis of property shall be the cost of such property…”

(3) Think of basis as generally representing after-tax, unrecovered investment – in many cases, sweat equity or after-tax investment.
(4) Basis is what you get to recover tax-free; you have gain only on amounts received above basis and loss only on amounts received less than basis
(5) If I buy identical pieces of property and sell one piece, I apportion basis equally among the pieces to determine gain

(a) Example: Purchase 5 shares of common stock for $100,000
Sell one shale. The basis for the one stock is $20,000

(6) If the properties are not identical, I must apportion basis equitably according to relative fair market value

(a) Reg. 1.61-6 provides this rule:

(i) When part of a larger property is sold, the cost or other basis of the entire property shall be equitably apportioned among the several parts, and the gain realized or loss sustained on the part of the entire property sold is the difference between the selling price and the cost or other basis allocated to such part
(7) A special basis rule
(a) Inaja City paid $49,000 for an easement from the landowner. How much does the landowner get to allocate to basis on this sale? Inaja allows the taxpayer to recover all of his basis first, allowing the taxpayer to postpone payment of tax.
(i) Example:
1. Inaja’s basis in the land is $61,000
If the city paid $49,000 for an easement, how much basis does Inaja get to allocate. $49,000. Inaja has no gain for that sale.
Inaja has not recovered $12,00 basis.
If in the next year Inaja sold the land for $25,000. He would have gain realized of $13,000. (25000 – 12000 = 13,000)
ix) Annuities

(1) Often used for retirement, annuities are contracts that call for periodic cash payments, often annually, for life. 
(2) Annuities, of course, have a special basis rule

(3) §72(a) “gross income includes any amount received as an annuity”

(4) Under current law, to calculate how one schedules recovery of basis, you take each payment and multiply it by the following fraction:  investment in the contract/ expected return based on life expectancy.  The denominator of the fraction is the product of the annual return and the return multiple, how many times you expect to get an annual payment (in other words, the life expectancy), under the tables in reg. sec. 1.72-9. (Judge the expected return at the time payments begin, not when the investment is made)
(i) The exclusion ratio is provided in §72(b)
(ii) Payment x (investment / expected return) = return of investment basis each payment

1. Expected return = (annual payment x return multiple)

2. Return multiple = life expectancy

(iii) Example: How much of each payment is deemed return of basis for C, who paid $50,000 on his 75th birthday for an annuity that pays $5,000 a year for life?
C has a life expectancy from the tables of 12.5 years
How much of the $5,000 is basis and how much is gain?
50,000 / (5,000 x 12.5) = .8
Each year, C excludes .8 of each $5,000 payment (=$4,000) as recovery of basis
That .8 is return of investment basis 

(b) Under current law, if I win or lose the bet with the actuarial tables, by living longer or shorter than expected, I take the gain or loss on an individual basis.  If I die before I recovery the full investment, my estate gets the loss.  If I live very long and thus recover my investment, I henceforth pay tax on the full amount of payment received
x) Life Insurance

(1) Life insurance involves both mortality risk and savings

(a) Term life has no savings element

(b) Whole life insurance has both a mortality risk element and a savings element

(2) Savings element

(a) How much I am charged depends on how much longer I am expected to live, the rate of interest the company expected to earn and the service charge

(3) Section 101(a) excludes all life insurance proceeds from income, even if much of the proceeds represent earnings on investment

(a) You get the tax free build up and do not get taxed on the payment for your beneficiary

(b) §264; no deductions for premiums paid for life insurance or annuities
(4) Present Value

(a) Present value is what needs to be set aside so that this amount, compounded at an interest rate will equal a specified amount at a date in the future (compound interest backwards).
g) What is and is not income; calculating loss and treatment of human capital, in particular section 104 (physical loss) and medical expenses

i) Recovery for loss of business property is relatively straightforward

(1) Recoveries for loss of business property are taxed to the extent insurance proceeds exceed basis. Amounts for loss of earnings are taxed
ii) Personal Injury

(1) Section 104 excludes from income recoveries for physical injury, but not punitive damages

(a) 104(a)(2) excludes “the amount of any damages (other than punitive damages) received (whether by suit or agreement and whether as lump sums or as periodic payments) on account of personal physical injuries or physical sickness.”
iii) Employer Provided Medical Insurance and Recoveries
(1) Under sections 105 and 106, employer-provided medical insurance and recoveries under it are excluded from income
(2) Section 213

(a) Individuals who must pay for their own medical care and who itemize deductions can deduct medical expenses to the extent they exceed 10% of AGI

(3) Example of 213 and 105 application

(a) Adelaide has salary and AGI (adjusted gross income, which is roughly equivalent to economic income) of $28,500.  Her employer does not pay for health insurance for its employees. Adelaide herself thus spends $3,500 for health insurance. She has no other medical costs.
Bernadette has salary and AGI of $25,000. Her employer provides health insurance for her, at a cost of $3,500.  She has no other medical costs.
It would seem that Adelaide and Bernadette are similarly situated. Both have $3,500 of health insurance and $25,000 to spend on other items.
They are, however, taxed differently. Under section 213, Adelaide can deduct as a medical expense the cost of health insurance for which she pays personally only to the extent that her medical costs exceed 7.5% of her AGI. 7.5% of her AGI is $2,137.50.  In calculating her taxable income, she can deduct only $1,362.50, the extent to which her medical expenses of $3,500 exceed 7.5% of AGI. Her taxable income is thus $27,137.50 ($28,500 - $1,362.50) and she will need to use some of her after-tax income to buy her health insurance.
Under section 106, Bernadette can exclude from income amounts paid by her employer for health insurance. Her taxable income is $25,000.

iv) Tax Treatment of Loans

(1) Loans are not income

(a) The fact that a loan has generated and increased cash does not produce income. We assume that the loan will be repaid in full and therefore is not income. 
(b) Under Haig-Simons, a taxpayer has income only if the taxpayer has an increase in wealth. A loan is not income because the cash received is balanced by the obligation to repay in full.

(c) Recourse loans: borrowers are personally liable for recourse loans; the bank can go after any of a borrower’s assets to collect what is owed on a recourse loan. Usually a lender will go to court and garnish a borrower’s wages.
(d) Nonrecourse loans: the lender can look only to the property pledged as security for the loan. Almost all real estate loans are nonrecourse.

v) Forgiveness of Debt

(1) True forgiveness of debt (cancellation of debt or COD) is income. The loan is not paid back in full, so the borrower has income.

(2) §61(a)(12) states that gross income includes income from discharge of indebtedness
(a) Example: If a lender agrees to accept $9,000 in full satisfaction of a $10,000 loan, the borrower has $1,000 of income under §61(a)(12)
(i) A lend may do this because of a change in interest rate. He can take back less and loan out at a higher interest rate.

(ii) There is an inverse relationship between the value of a bond and the market interest rate.

(3) Kirby Lumber A company issues a 30-year bond with a face amount of $1,000 paying 10% interest. The first purchasers of the bond will lend the company $1,000 and get $100 a year. But, if the interest rates rise to 12%, lenders would expect to lend only $839 to get $100 a year. The value of the bond would then fall from $1,000 to nearer to $839. So, if the company paid back $839 for the $1,000 bonds, they would have some debt forgiveness.
(a) Rule; COD income is a tax adjustment made when the assumption that a loan will be paid back in full proves false regardless of the use to which the borrowed funds were put.
(4) If someone assumes my debt, I am enriched.  It is AS IF cold, hard cash had been transferred to me and I used that cash to pay my outstanding debt.
(a) Assumption of a debt is NOT cancellation of debt.

(b) Same with a lender accepting services instead of repayment in cash.
(c) A “gift” from a family member to pay a debt is also not COD income.

(5) Payment of Another’s Debt: Part Sale/ Part Gift

(a) Diedrich Parents transferred appreciated stock to their children on the condition the children pay the obligation the parents had to the U.S. Treasure for gift tax. The children paid the gift tax, satisfying an obligation on behalf of the parents. Both donee and donor wanted this transaction as gifts. Both the gift from the parents and the gift payment from the payments. The IRS does not agree because the stock was given on a condition, not out of disinterested generosity. This is instead, a part sale, part gift transaction.
(i) Diedrich adopts the Inaja rule in allowing the donor to be permitted to recover all of her basis before any income is realized. This rule is triggered by simultaneous sale and gift to the same person between individuals
(ii) Reg. §1.1015-4 describes this special basis rule for a transfer that is part sale and part gift as the greater of:
1. The amount paid by the transferee for the property or

2. The transferor’s adjusted basis for the property at the time of transfer

(iii) Example

1. Assume Gertrude transfers property worth $50,000 to son Hamlet on the condition that Hamlet pay Gertrude’s debt of $10,000.  Gertrude’s basis in the property is $5,000.  Hamlet later sells the property for $50,000.  Thus, the property has appreciated $45,000
This is a part sale and part gift – a sale for $10,000 worth of property and a gift of $40,000 worth of property. Gertrude’s amount realizes is $10,000 on the sale portion, but she is permitted to allocate all of her $5,000 basis to the sale portion. Her gain on the sale portion is then $5,000. Since she has allocated all of her basis to the $10,000 sales portion of the transaction, her basis for the remaining $40,000 gift portion is zero. She does not get to recover her basis more than one.
Hamlet’s basis in the $10,000 sale portion is still $10,000, the amount he paid as a purchaser for that portion. For the gift portion, he takes his mother’s basis, which is, in this case, zero. Thus, Hamlet’s basis for the entire property under the Diedrich rule is $10,000. When he sells the property for $50,000, he realizes a $40,000.
a. Reg. §1.1015-4 describes this special basis rule for transfer that is a part sale and part gift as the greater of (a) the amount paid by the transferee for the property, or (b) the transferor’s adjusted basis for the property at the time of the transfer.
i. Property with FMV of $50. G’s basis is $5 and G’s debt which H will pay is $1. The rule tells us that H’s basis will be $5. H pays or assumes the debt of $1 and has $1 amount realized in “sale” portion; $1 of G’s basis allocated to sale portion. G has $4 left of basis which H takes in the gift portion. H has a total basis of $5, the same as G’s (transferor), which is greater than amount paid.
2. Same facts but in the part sale part gift to charity context (bargain sales to charity)
Hamlet paid $10,000 for the property by paying Gertrude’s debt. Gertrude’s amount realized is $10,000, the liability of which she was relieved.
Since the entire property was worth $50,000 and Hamlet paid only $10,000, how do we characterize the other $40,000 worth of value? The $40,000 was a gift. That is 20% of the property was sold and 80% of the property was given. Gertrude is a donor of 80% of the property and a seller of 20% of the property. Hamlet is donee of 80% of the property and buyer of 20%. 
How much gain does Gertrude have on the sale of 20% of the property for $10,000? We would allocate 20% of the total basis to a sale of 20% of the total property. Thus, Gertrude would allocate $1,000 of her basis ($5,000 x .2) to this sale of $10,000 of the property and her gain would be $9,000. The other $40,000 of the property’s value is considered a gift and she has no income from making the gift. 
What about Hamlet?
He is purchaser of $10,000 worth for $10,000. Purchase of property does not have income tax consequences. His basis in this piece of property is what he paid for it ($10,000)
On the other hand, Hamlet is the donee of property worth $40,000. His basis in this piece of the property is his mother’s basis. $5,000 x .8 = $4,000.
Hamlet’s basis in the property as a whole is thus $14,000. When he sells the property for $50,000, his gain is $36,000.
A rigorous part gift/ part sale treatment. This is the general allocation rule of reg. § 1.61-6 and rule for bargain sales to charitable organizations §1011(b).
(b) Do not forget the general rule

(i) Generally, what the transferee pays is fair market value
(ii) That amount becomes the transferee’s basis

(iii) If I buy a painting for $35,000 I expect basis credit in that amount

vi) Depreciation

(1) Taxpayers may recover cost by taking annual depreciation deductions. These deductions reduce income each year and adjust basis. Depreciation deductions are an exception to the realization requirement.
(2) For real estate, only the building, not the land, can be depreciated. The cost is recovered equally each year over a number of years specified in the Code.

(3) Crane Crane inherited a building subject to a nonrecourse mortgage when the FMV of the building and outstanding balance on the mortgage were both $250,000. She owned the building for some time and took depreciation deductions totaling $25,000. Crane sold the building for a net amount of $2,500 and subject to the mortgage, which remained at $250,000. Crane argued her amount realized was only $2,500. The Court said no. Crane obtained an economic benefit from the relief of her non-recourse mortgage because it permitted her to realize upon sale the $2,500 of appreciation. Crane’s amount realized included the outstanding principal on the mortgage to which the property was subject.
(a) Rule: amount realized includes the outstanding principal on a mortgage to which a property is subject
(b) Section 1001: “the amount realized from the sale or other disposition of property shall be the sum of any money received plus the fair market value of the property (other than money) received.”
(i) Section 1001: AR – AB = GR (LR)
1. AR = Amount Realized
2. AB = Adjusted Basis
3. GR = Gain Realized
4. LR = Loss Realized
(ii) IRS calculated gain as follows:
1. Amount realized
a. Cash


$2,500
b. Relief of Mortgage
$250,000
c. Total


$252,000
2. Less Adjusted Basis
a. Original basis

$250,000
b. Less: adjustment
$25,000
for depreciation
c. Adjusted basis

$225,000
3. Gain


$27,500
(4) Tufts Crane said the relief of mortgage is part of amount realized. It did not say whether this was true when the value of the mortgaged property was less than the amount of the non-recourse mortgage. Partnership borrowed $1,850,000 on a non-recourse basis and used the proceeds, together with $45,000 of its own money to build an apartment complex. The partnership claimed $440,000 of depreciation. When the partnership sells the property to a third party for $250, subject to the loan, the amount of the loan outstanding was about $1,850,000. The Court upheld the governments treatment of the taxpayer as having received sale proceeds in the amount of the loan balance, even though the value of the land was less than the mortgage and the partnership could, if it had chosen, simply walked away from the complex. When there is a nonrecourse loan, the amount realized is going to include the outstanding balance on the loan. We do not consider the fair market value of the property. This treatment reconciles tax and economic consequences. The members of the partnership have lost out of pocket only $44,750 of the $45,000 they have invested. They have, however, deducted $440,000 of losses through depreciation. In order for tax consequences to match economic consequences, the taxpayers must “give back” $395,250 of the depreciation deductions.
(a) Amount Realized
(i) Cash



$250
(ii) Relief of Mortgage

$1,850,000
(iii) Total



$1,850, 250
(b) Less Adjusted Basis
(i) Original Basis


$1,895,000
(ii) Less Depreciation

$440,000
(iii) Adjusted Basis

$1,455,000
(c) Gain Realized


$395,250
(d) Tufts rule: AR includes relief of a nonrecourse mortgage even if the mortgage is greater than the property’s FMV, given that the amount of the mortgage was included in basis.
(5) We do not treat relief of non-recourse mortgages as forgiveness of indebtedness income.  We instead treat the transaction as if the purchaser of property subject to the loan has paid the borrower the full amount of the loan and the borrower has in turn paid the lender in full.
(6) Neither do we treat assumption of a recourse mortgage as cancellation of indebtedness. We treat the transaction AS IF the purchaser had paid the seller cash and the seller had paid off the loan in full.
(7) What about the buyer? The buyer’s initial basis in the property includes the liabilities assumed or to which the property is subject, at least up to the FMV of the property.
(8) Borrowing Against Appreciation
(a) Woodsam Associates Wood and his wife purchased a parcel of land with a building for retail businesses. The property was subject to a $400,000 nonrecourse mortgage. She bought the property for $296,400. She borrowed against the property after purchasing it. The mortgages were consolidated into the amount of $400,000 nonrecourse. The court determined that the additional borrowing did not change Mrs. Wood’s basis in the property.
(b) Borrowing against appreciation in a piece of property does not in itself either generate basis in that property or produce realization of income. (Woodsam Associates)
(c) Although a loan against appreciation does not in itself generate basis, the amount realized upon disposition of the property includes all debt to which the property is subject.

(i) Borrowed funds used to acquire property are included in basis, subsequent borrowing against appreciation does not increase basis. Neither does it require recognition of income, even if the amount borrowed nonrecourse exceeds the value of the property. If the property is later transferred subject to the mortgage, the amount realized, however includes the earlier loan proceeds. Assumption of liability or the amount of loan to which the property is subject is included in the amount realized even if the liability was not included in basis.
1. Example: Suppose I buy non-depreciable property for $10,000, paying $2,000 of my own funds and borrowing $8,000 non-recourse.  My basis is $10,000.  If the property appreciates to $40,000 and I borrow an additional $20,000 non-recourse, I recognize no gain and my basis remains $10,000. The subsequent borrowing of $20,000 is considered untaxed appreciation and is not included in basis.  If the property appreciates further to $50,000 and I sell it (without having paid any principal on either mortgage) for $22,000 subject to both mortgages, my amount realized is $50,000 ($22, 000 in cash and relief of $28, 000, of debt) and my gain is $40,000 ($50,000 minus $10,000 basis).
2. What about the buyer?
a. The buyer’s initial basis in the property includes the liabilities assumed or to which the property is subject, at least up to the fair market value of the property. But there is conflicting authority on this rule. Some say his basis should be the fair market value of the property, some say it should be the outstanding balance on the nonrecourse debt.
(9) Key Points
(a) Borrowed funds are not income, but we generally get to treat borrowed funds are not own for tax purposes
(b) AR includes relief or assumption of borrowed funds or taking property subject to a mortgage
(c) We can get basis for borrowed funds when we purchase property. If I use borrowed funds to purchase or improve property, those funds do generate basis.
(d) Borrowing against appreciation does not in itself generate basis.
vii) In the case of foreclosure by a lender (and only in this situation) we treat recourse and nonrecourse loans differently
(1) In the case of nonrecourse loans, for calculation of gain or loss, the amount realized by the taxpayer is the outstanding principal on the loan. When adjusted basis is subtracted from this amount, the taxpayer is likely to have gain.
(2) In the case of recourse loans, for calculation of gain or loss, the amount realized equals the fair market value of property taken by the lender. When adjusted basis is subtracted the taxpayer may well have a capital loss. In addition, if the outstanding debt is greater than the property’s FMV, the taxpayer will have COD income, which is ordinary. For recourse debt, the difference between the outstanding principal on the loan and the FMV of the property is COD income (which is ordinary).
(a) If the bank does take a building worth $850k in satisfaction of a $900k recourse debt when AB is $850k –

(i) AR = $850k (FMV of building)

(ii) AB = $850k 

(iii) GR = $0

(iv) But, $50k of COD income. The difference between the outstanding principal and the value of the property the bank receives.
h) Characterization; Capital Gains

i) Section 1211 limits deductions of capital losses, for the most part to the amount of capital gains.

(1) Individuals can use capital losses against capital gains and up to $3,000 of additional capital loss against ordinary income.

(2) Corporations can use capital losses against capital gains and then carry losses back and forwards pursuant to section 1212

ii) Section 1222 covers the sale or exchange of capital assets

(1) Sale or exchange of a capital asset has many advantages

(a) Recovery of basis

(i) When you have a capital asset (such as stock held for more than one year)

1. AR-AB=GR (LR)

2. When selling a capital asset, the amount above basis is taxed at a preferential rate
(ii) Wee tax the whole of dividends paid from stocks; we do not allocate basis to the payment of dividends

(b) Capital assets are eligible for installment sales
(c) Deferral under realization requirement

(d) Preferential tax rates (highest rate is about 20%)

iii) Section 1221(a) defines capital asset:

(1) “the term ‘capital asset’ means property held by the taxpayer (whether or not connected with his trade or business), but does not include…”

(a) The most important excluded category is 1221(a)(1)

(i) “stock in trade of the taxpayer or other property of a kind which would be properly included in the inventory of the taxpayer if on hand at the close of the taxable year, or property held by the taxpayer primarily for sale to customers in the ordinary course of business.”

1. Last phrase covers real property which is not typically considered inventory. But a developer holding houses for sale to customers in the ordinary course of business is inventory and therefore gain from it is ordinary income.

(2) 1221(a)(2); “Property, used in his trade or business, of a character which is subject to the allowance for depreciation… or real property sued in his trade or business.”

(a) This is the shoemaker’s shoe-stitching machine, not the shoes or shoe leather.

(b) This could also be real property; the office building or farm fields.

(c) If there is a loss from one of these types of property, you get to treat is as ordinary income which is preferable because ordinary income is taxed at a higher rate. Items for business (such as a compute) often become outdated quickly and so would be sold for even less than adjusted basis even with the depreciation deductions. This would recognize a loss. The amount realized would be less adjusted basis.
(d) Section 1221(a)(2) property gets the best of both worlds

(i) Ordinary income treatment if there is a loss.

(ii) Capital gain treatment if there is a gain

(iii) This kind of property is known as section 1231(b)(1) property. (not inventory, but the property which is used for or produces the inventory)

iv) Arguments regarding capital gain preference

(1) Economic efficiency

(a) Pro: Low or zero rates on capital gains encourages economic growth.

(b) Con: Economic arguments do not answer the normative issue of appropriate wealth distribution.

(2) Not income.

(a) Pro: Unexpected and nonrecurring, wholly unlike wages or other payments for productive effort.

(b) Con: What about reliance of income tax on the concept of ability to pay.  For many people, these gains are expected.  Other unexpected receipts are taxes as ordinary income.

(c) This argument does not have much traction today

(3) Bunching.

(a) Pro: Realization rules forces reporting in one year of gains accrued over several years and thus subject gains to higher marginal rate. Special rate as an averaging device.

(b) Con: Capital assets have had benefit of deferral. Many taxpayers would have been at highest marginal rate in any case. Better solutions possible if problem is bunching.

(4) Inflation
(a) Pro: Capital gains are largely inflationary and thus do not represent economic income.

(b) Con: Benefit of deferral may exceed detriment of inflation. A special rate is not a good proxy for the issue of inflation.

(5) Risk.

(a) Pro: Income tax discourages risk because it reduces expected return, especially given limitations on deducting losses; need special rate to compensate.

(b) Con: Address loss limitations or encouragement of risk directly.

(6) Lock-in.

(a) Pro: Especially given special rules for basis at death, investors will be reluctant to incur tax during life even if prefer another investment. Not going to sell because if you sell, you have to pay taxes, so hang on to it.

(b) Con: Not clear that lock-in is a burden on economy as a whole. More targeted fixes, such as roll-over (no gain if invest in another stock) or different rules for basis at death (treat death as a realization event?), are possible.

(c) A more common argument today

(7) Savings.

(a) Pro: We as a nation need to encourage savings.

(b) Con: Little evidence that special tax rate under income tax in fact encourage national savings to any meaningful degree.

(8) A very common argument now is international competition

(a) Does having a higher capital gains rate than other countries harm business here?

v) Property Held Primarily for Sale to Customers

(1) Bielfeldt v. CIR Taxpayer purchased large quantities of Treasury securities from primary dealers and then held them until they were worth more. Taxpayer argues he is not a trader because he does not want the securities to be his stock in trade and thus be ordinary income. The court treats him as a trader. Losses from decreasing value in the securities were capital and thus taxed at a lower rate than the ordinary loss which taxpayer was arguing for. He was not providing services to others, he was reselling the securities for his own account.
(2) Example: A farmer owns land with a basis of $100k which is ripe for development. If he sells to a developer for $1,000,000, he will have $900k of gain, all treated as capital under section 1231 because it was property he held for use in a trade or business.

(a) But, instead, he decides to subdivide and sell the property himself, and in so doing becomes a full-time developer and real estate broker. He also buys the lot next door for $1 million. $100,000 AB in old property. $1,000,000 AB in next door lot. He sells the houses on the two lots for total of revenue of $3 million, after taking into account all of his costs except the land, he has an AB of $1.1 million. He will have $1,900,000 or ordinary income. Even the appreciation in value of his land from $100,000 to $1,000,000 will be treated as ordinary income.
(3) Biedenharn Realty v. US Taxpayer owned a plantation for farming and as an investment. He harmed it for a few years and then began improving the land and dividing it into residential properties. Taxpayer argued the sales were capital gain, while the IRS argued they were ordinary income. The lots were sold over a period of 7 years. Taxpayer wants capital gain; he wants to get right up to the line without being considered a developer because that would mean the property was his “inventory” for the purposes of business and would be excluded from capital assets.
(a) Biedenharn Factors:
(i) The nature and purpose of the acquisition of the property and the duration of the ownership;

(ii) The extent and nature of the taxpayer’s efforts to sell the property;

(iii) The number, extent, continuity and substantiality of the sales (frequency);

(iv) The extent of subdividing developing and advertising done to increase sales;

(v) The use of a business office for the sale of the property;

(vi) The character and degree of supervision or control exercised by the taxpayer over any representative selling the property; and

(vii) The time and effect the taxpayer habitually devoted to the sales
i) Realization and Recognition

i) Asks the question “when is there income?”
ii) Realization – when enough has happened that we could impose a tax

iii) Recognition – a change in circumstances when we do in fact impose a tax

(1) Usually, realization and recognition occur at the same time. But there are some nonrecognition provisions (the only one we cover is 1031 like-kind exchange)

(2) Section 1001 defines a realization event. But the language is arguably over inclusive. A gift is a disposition, but not a realization event. The language is also arguably under-inclusive. Collecting insurance for a fire or having property become worthless is a realization event thought there is not a sale or disposition. 

iv) Eisner v. Macomber Taxpayer gets one new share for each two shares owned. Originally, she owned 2,000 at $360 a share for a total of $720,000. After the stock dividend, taxpayer owned 3,000 shares valued at $240 a share for a total of $720,000. The taxpayer’s percentage of stock owned did not change nor did the total value of what she held. So is this a realization event? Court says no. This is just appreciation and not realization, so it is not taxed. 
j) Gains and Losses from Investment in Property

i) Cottage Savings The taxpayer held long-term, low-interest mortgages which had declined in value. A regulatory body prevented such associations from selling devalued mortgages thought selling them would have allowed the associations to recognize a loss. The regulatory body changed the prohibition so that such associations could exchange mortgages which were “substantially identical” and recognize a tax loss while not showing an accounting loss. There were a bunch of factors which the regulatory body listed to determine which loans were substantially identical. The taxpayer wanted the loss for tax purposes but the IRS did not because it would allow the associations refunds. The IRS argued the exchange was like-kind so there was no realization. But the court ruled in favor of the taxpayer saying that such an exchange does recognize a loss.
ii) The loans were different because they involved different legal entitlements 
k) Gain on Sale of Homes

i) Section 121

(1) Special treatment for sale of your home

(2) If you have used the house as your principal residence for at least two of the past five years:

(a) Individuals can exclude up to $250,000 of gain

(b) Married taxpayers filing jointly can exclude up to $500,000 of gain.

(c) This provision may only be used once every two years, which exceptions for change in place of employment, health, etc. 

l) Section 1031

i) Section 1031 allows deferral of tax (by nonrecognition) if we swap like-kind property held for permitted purposes (“qualifying property”)

(1) Requirements

(a) Like-kind

(b) Held for permitted purposes

ii) The “price” for nonrecognition and the method of deferring gain recognition is carryover or substituted basis
iii) 1031 is not elective; it applies whether you want it or not, but is easy to avoid

iv) What is like-kind property?

(1) Nature or character, kind or class

(2) Not grade or quality

(3) For personal property, the rulings are narrower than for real property which has received generous ruling

v) Additional Requirements Regarding Use

(1) In addition to being like-kind, statute requires that for the taxpayer whose exchange we are examining both the property given up and that acquired must be:

(a) Either held for productive use in trade or business OR

(b) Held for investment

(2) This means that sometimes one party may qualify for like kind while the other would not

(a) E.g., farmer exchanging an old tractor for a new one from the John Deere dealer. The farmer could use 1031, but the dealer could not.

vi) Stock in trade (inventory) or other property held for sale in the ordinary course of business is NOT eligible for 1031 treatment

vii) Exceptions from 1031

(1) These categories of property are ineligible for 1031 per statute

(a) Stocks, bonds, notes

(b) Other securities or evidences of indebtedness or interest

(c) Interests in a partnership

(d) Certificates of trust or beneficial interest

(e) Choses in action (a claim to a case)

viii) 1031 Basis Rules

(1) Example: A has land held for investment with AB of $50k and FMV of $150k. B has land held for productive use in trade with AB of $75k and FMV of $150k. They swap. 

(a) What is A’s gain realized? Gain Recognized? Basis in acquired property

(i) AR = 150, AB = 50, GR = 100 but because like-kind swap, none of this is recognized, but A’s basis in the new property is $50k despite the new property’s $150k FMV.
ix) Boot and Basis

(1) Gain is recognized to the extent of boot received

(2) Disposition of non-qualifying property can generate a gain or a loss
(3) The formula for section 1031 involves an ordering rule.  This formula requires that we first allocate basis to boot.  Boot can be money, nonqualifyfing property, or both.  First, we assign money basis equal to its face amount.  Next, we assign basis to non-cash boot (also called “other property”).  It takes FMV as basis.  The number that remains after these adjustments is the basis of the new qualifying property
(a) Let’s consider again the section 1031 basis rules.

(i) First calculate the “pot” of basis, which is:

(ii) Basis of all qualifying property given up, plus

(iii) Gain recognized because of boot received, plus

(iv) Basis of boot paid (includes face value of cash), plus

(v) Gain or loss (as a negative number) recognized because of boot paid.

1. Only boot paid can generate a loss

(vi) You can use a special rule for boot paid

1. Treat boot paid as a side transaction.

2. Calculate gain or loss.

3. Include the FMV of boot paid in your total basis number for the pot of basis.

(vii) Assign any U.S. cash received its face value and reduce the pot of basis by that amount.

(viii) Assign any non-cash boot received FMV as basis and reduce the pot of basis further by that amount.

(ix) What remains in the pot is the basis for qualifying property
3) Cash Method of Accounting

a) Revenue is recognized when cash is received and expenses when claims or obligations are paid. 
b) Constructive Receipt

i) Items (cash, property, services) are income in the year actually or constructively received. A taxpayer may not deliberately turn his back upon income and thus select the year for which he will report it. 

ii) Reg. §1.451-2 “Income although not actually reduced to a taxpayer’s possession is constructively received by him in the taxable year during which it is credited to his account, set apart for him or otherwise made available so that he may draw upon it at any time or so that he could have drawn upon it during the taxable year if notice of intention to withdraw had been given.” 
(1) “However, income is not constructively received if the taxpayer’s control of its receipt is subject to substantial limitations.”
iii) Examples of Constructive Receipt Include:
(1) Uncashed dividend checks
(2) Un-deposited salary checks
(3) Matured interest coupons
(4) Interest on savings accounts
(5) More generally; “items that could be turned into cash with a stroke of a pen, but the taxpayer deliberately or inadvertently fails to present for payment or otherwise process in the normal fashion”
(a) Delay in converting into cash is purely voluntary
iv) Contracts create some difficulty because they allow for date of payment to be fixed. Generally, the date specified for payment in the contract controls, and payment is not constructively received before that date, even if the obligor would have agreed at the outset to an earlier date or would have paid earlier if asked. 
(1) Postponement of an amount already due does not postpone taxation, even if further postponement is supported by consideration
v) Substantial limitations can prevent constructive receipt. E.g.,
(1) Having to surrender insurance policy to get cash surrender value
(2) Having to leave work to get severance pay
(3) Earning interest at substantially lower rate if earnings are withdrawn from an account before a specified date
(4) Inconsequential conditions, such as having to submit a document for cancellation, do not prevent constructive receipt
vi) Amend The taxpayer, on the cash basis, sold wheat in 1944 in a contract for delivery in 1944 and payment in 1945. CIR argued that taxpayer had constructively received in 1944, but the taxpayer argued receipt was in 1945. Court says the taxpayer was right because he did not and could not receive the money in 1944 because the contract provided for payment in 1945.
c) Economic Benefit

i) To be taxed under this doctrine, the taxpayer must have actual receipt of property OR the right to receive property in the future.

ii) Amend Hypothetical Variation: what if the person buying the wheat had placed payment upon delivery in an account with the taxpayer’s name but on the condition it could not be withdrawn until 1945. This would be receipt under the economic-benefit theory.
iii) Pulsifer Pulsifer, the three petitioners’ father, acquired a sweepstakes ticket in his name and the name of his three minor children. They won $48,000. Pulsifer was awared only ¼ because the other ¾ was for the 3 minors. The sweepstakes winnings were placed in a bank account to be released to the minors upon reaching the age of 21. The court determined this money was constructively received by the taxpayers under the economic-benefit theory. 
d) A naked promise to pay is not a cash equivalent taxable to a cash-basis taxpayer
i) This is the biggest difference between cash basis and accrual basis. For an accrual basis taxpayer, accounts receivable (a promise to pay) must be reported. 
ii) But when is a promise to pay more than a naked promise?
(1) Is the instrument negotiable?
(2) What is the discount at which this instrument could be sold compared to the generally prevailing premium for the use of money (interest rate)?
(a) The greater the disparity, the less likely that the instrument will be considered a cash equivalent
e) Constructive receipt asks whether the taxpayer could get cash or its equivalent without significant effort or limitation
f) Economic benefit asks whether what the taxpayer has (or has the right to) is equivalent to cash
i) Minor Taxpayer got deferred compensation in a trust. The trust was not secure against the employer’s creditors, so that the money was at risk. The court determined because the money was at risk, it was not an economic benefit to him and was not constructively received. 
(1) Economic benefit: an employer’s promise to pay deferred compensation in the future may itself constitute a taxable economic benefit if the current value of the employer’s promise can be given an appraised value

g) §446(a)(c)

(a) General rule – taxable income shall be computed under the method of accounting on the basis of which the taxpayer regularly computes his income in keeping his books (accrual or cash)
(b) Exceptions – if no method of accounting has been regularly used by the taxpayer, or if the method used does not clearly reflect income, the computation of taxable income shall be made under such method as, in the opinion of the Secretary, does clearly reflect income.

(c) Permissible methods….

h) §451(a)

i) General rule – the amount of any item of gross income shall be included in the gross income for the taxable year in which received by the taxpayer, unless, under the method of accounting used in computing taxable income, such amount is to be properly accounted for as of a different period

i) Reg. §1.451-1 and -2

i) -1 general rule for taxable year of inclusion

ii) -2 constructive receipt of income

4) Open Transactions

a) Burnet v. Logan Taxpayer had $180k basis in stock. She sold the for $120k in cash, and payments equal to 10% of the net profits from ore mined until the mine was exhausted. Court says recover basis first. The sale would recognize no gain because there is $60,000 gain left. Assuming she was paid $40k in profits from the mine, she would still recognize no gain and now $20k of basis is left. Then in year 3, if she gets $50k of income, she will owe tax on $30k and then all future payments will be gain realized. 
i) The taxpayer would likely not get the same treatment today. There is now the installment method provided in §§ 453, 453A, and 453B.

5) Installment Method

a) Provided in §§ 453, 453A, and 453B.

b) Gain is recognized but is spread over all installment payments. 

c) REQUIRES sale of property with at least one payment in year 2 (and it excludes dealers).

i) This formula is similar to (but not identical) annuities.

d) General Rule:

i) To determine taxable amount under the installment method, multiply each payment, including any down payment (the total contract price), by a fraction
(1) Gross profit / total contract = taxable amount

(2) Gross profit = total contract price minus basis

(3) Total contract price = face amount of note + any payment made in year of disposition

e) Special Rule 1: if you do not know the exact amount of the contract price, but do know the maximum possible, use the maximum for your calculation. 

i) Example: I sell 100% of the stock of a business corporation, with a basis of $40k, on the following terms: a payment of $20k in the year of disposition and payments for each of the following five years equal to 10% of net profits, with a basis of $40k, on the following terms: a payment of $20k in the year of disposition and payments for each of the following five years equal to 10% of net profits, with a maximum total for all payments of $120k.
Total contract price = $120k
Gross profit = ($120 - $40) = $80k
Gross profit percentage = ($80k / $120k) = 66.66%
In the year of sale, I treat $13,333 as taxable gain and $6,666 as recovery of basis. If in year 2, 10% of net profits comes to $24k, I treat $16k as taxable gain and $8k as recovery of basis
f) Special Rule 2: if you do not know the maximum contract price, but do know the maximum period of time over which payments will be made, allocate BASIS in equal amounts over that time period.

i) This gives you’re the BASIS in each period instead of the GAIN of each period

ii) Example: I sell property with a basis of $40k for payments equal to 10% of profits for each of 8 years. Each year, I treat $5k of the amount I receive as recovery of basis. There is no down payment here. 8 years and $40,000 of basis, so each year, recover $5,000 of basis (unless there is less than $5,000 income)
g) Special Rule 3: if neither maximum amount nor maximum time is known, recover basis under the installment method in equal amounts over 15 years.

i) Caution: this scenario is considered unlikely. The regulations state that such arrangements will be closely examined to determine whether a sale in fact has occurred or whether the arrangement in fact represents rents or royalties.
h) Taxpayers can elect out of the installment method and treat the transaction as closed.

i) Cash basis taxpayers would include the FMV of the installment note or notes in AR.

ii) Accrual basis taxpayers would include the face amount of the note in AR

i) Authorities disagree about the extent to which taxpayers can elect out of installment method and treat the transaction as open. 
6) Accrual Method

a) Under the accrual basis a taxpayer has income when services are provided, as opposed to when they are paid.
b) A taxpayer who is a dealer (and thus has inventory) must be on the accrual method.

c) Georgia Schoolbook Depository Broker earned 8% commission for purchasing and storing books and other services for Georgia schools. There was not enough money in the school’s fund to provide for the books, but the broker provided the services. The broker argued that it only earned when it was paid despite the fact that it provided services and was actually entitled to payment in the future. The court did not accept this. The taxpayer did have income prior to being paid under the accrual method.
i) Under the accrual method, revenue is recorded when products are sold, services are provided, or enterprise sources are used, not when payment is received.

d) The accrual method does not call for income to be accrued when a contract is executed because only as the services are rendered is the amount earned.
e) We must distinguish doubt about validity of a claim from doubt about its collectability.

i) Doubt as to validity of the claim generally prevents accrual

ii) Doubt as to whether a claim will be collected does not generally prevent accrual

f) Prepaid Income

i) AAA AAA would get some receipt of membership late in the year and wanted to report it based on statistical evidence of when services would be rendered. The Court rejected this argument and insisted the payments be included in the first year. 
(1) Rule: prepaid income is included when received. Expenses reported only when they are incurred.

ii) There are now some statutory and regulatory exceptions to the rule requiring inclusion of prepaid income
(1) §456 for membership organizations

(a) (e)(3) definition of membership organization is very narrow. Basically written with the goal of applying only to AAA
(2) §455 for prepaid subscription income.

g) Reg. § 1.461-1(a)(2) gives the rules for deductions by accrual basis taxpayers:
i) An expense is deductible for the taxable year in which all events have occurred determine the fact of liability and the amount thereof can be determined with reasonable accuracy.
(1) Of course, debate about “all events” and “reasonable accuracy”

(a) General Dynamics; All events test requires filing of a claim before an employer could deduct costs for a self-insured reimbursement medical plan. Supreme Court said filing of the claim was required (just like AAA, Court did not want to rely on statistical evidence to determine taxes).
h) Section 461

i) Example: worker’s compensation claim
It is established that the employer is liable. Worker will get $50k a year for life and has a life expectancy of 20 years. Amount of liability can be determined with reasonable accuracy. Before section 461(h), employer would argue for deduction of $1,000,000 in year 1. Section 461(h) prevents this result by requiring actual payment as economic performance
ii) Example: reclamation costs
Mining company has stripped land. Under state law, it must restore the land. Liability is established. Assume the cost of reclamation can be determined with reasonable accuracy. The reclamation will take many years however. Before section 461, the mining company would argue for deduction of full costs in year 1. Section 461 prevents this result by requiring actual payment as economic performance
iii) Section 461(h) makes it clear that no deduction can be taken until economic performance occurs (for these particular costs, economic performance is simply payment).
	Accrual of Income and Expenses

	· Include amounts in income:
· When all events have occurred that fix the right to receive the income; and

· The amount of the income can be determined with reasonable accuracy. 


	· Deduct amounts as an expense when:
· All events have occurred that establish the fact of liability; and

· The amount of liability can be determined with reasonable accuracy;

· Economic performance requirement of section 461(h) has been satisfied.




7) Deductions

a) Section 162 allows business deductions such as rent, salaries, and advertising but, it can be very hard to draw the line between personal and business expenses.

i) Section 162(a)(2) has special rules for expenses when away from home (lodging may be deducted when away from home (there are definitions for “when away from home”)

ii) Section 274 has special rules for meals and entertainment. Only 50% of such expenses can be deducted.
iii) Section 274(b) allows deduction for section 102 gifts up to $25
iv) The Code treats self-employed and employees differently when it comes to deducting business expenses.

(1) The self-employed deduct business expenses under §62, above the line, to arrive at AGI
(2) Under §62(c) and §275(e)(3), employees exclude reimbursed expenses from income
(3) Under §67, employee unreimbursed expenses and expenses for production of income are deductible only if the employee itemizes and all itemized deductions exceed 2% of AGI

b) Personal Deductions

i) How do we distinguish business from personal expenses?

(1) Ask whether expense is appropriate and helpful to business activity

(2) Ask if primary purpose is profit-seeking

(3) Ask if expense would have been made but for business

(4) Ask if amount is reasonable

(5) Allocate between personal and business

(6) Ask about additional expenses because of business

ii) Section 262 tells us that, unless expressly provided in the Code, there are no deductions for personal, living or family expenses.

c) Section 163

i) Deductibility of Interest

(1) 163(a); “there shall be allowed as a deduction all interest paid or accrued within the taxable year on indebtedness”

(a) Business interest continues to be deductible
(b) For individuals, the exceptions to deductibility swallow up the general rule of allowance of deductions for interest (e.g., you used to be able to deduct credit card interest; this was eliminated in the 1986 Act)
(2) For individuals, section 163(d)(1) permits deduction for investment interest only to the extent of investment income.

(a) Example:
I borrow money to buy bonds and stock and pay $1200 in interest on that loan in Year 1. I get $1000 in payment of interest and dividends in Year 1. How much of the interest I paid can I deduct? Answer; $1000.

(b) Example:
I borrow money to buy stock and pay $12000 in interest on that loan in Year 1. The stock appreciates in value but pays no dividends in Year 1. How much of the interest paid can I deduct? None.

(c) Why? To match income and expense and to prevent current deduction with deferred taxation of property appreciation – the time value of money.

ii) Section 163(h) disallows deduction for personal interest with exceptions, including that for “qualified residence interest”

(1) There are two categories of “qualified residence interest”
(a) Acquisition indebtedness

(b) Home equity indebtedness
(2) Acquisition Indebtedness

(a) Limit of $1 million total in principal (no limit on the amount of interest at the moment) 

(b) Debt incurred in acquiring, constructing or substantially improving any qualified residence of the taxpayer

(c) Secured by the residence

(d) Refinancing limited to outstanding debt at time of refinancing (interest deduction only at amount of refinancing – because amount of principal was likely paid down at least some)
(e) Allowed for principal residence and one other residence

(3) Home Equity Indebtedness

(a) Limited to $100,000 total in principal

(b) Indebtedness secured by the residence

(c) Also limited to excess of FMV of residence reduced by the amount of acquisition indebtedness 

(d) (FMV – acquisition indebtedness) = home equity indebtedness deduction allowed

(e) Can be used for ANY purpose.
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